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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 &,dndet] Madoem, DNSD) =) BE G B0l Kohodhdd) ddoin3d.
b A Tm ) _— w2 (] ™ =
Question ID : 9864493496

The breakdown of glucose to pyruvate takes place in the during energy Status - Answered

production.

Ans ARSIV
X1 2o°

nucleus

ﬁéﬂmﬁﬁﬂ%oﬁ
mitochondria
cbodmemﬁc?agﬁﬂ dﬂﬁjﬁuaﬁ"

Chosen Option : 2

52

< 3.
endoplasmic reticulum

] éMEqﬁﬁ

cytoplasm

v

Q2 Bpmydobal 8 aed LZlee@bon SadrednuerEn? Question ID : 9864493271

Brass is an alloy made of: Status : Answered
Chosen Option : 2
Ans @oad), b B P

<1
Copper and Iron

Soad, B 35T

5 2.
Copper and Tin

Bl dd) Eﬂu-;gjcﬁ)cﬂaim
p ) -

Copper and Aluminum
T, @) TR
Copper and Zinc

Q.3
Question ID :9864494721
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Status :Not Attempted and
Marked For Review

Chosen Option : --

et ©03w03nw dedn- orbrbamen e SobdF-erbriesea S9E0s
ABmon weart 2leed Qe 830 JFdsEobay BdmbEd.

2,00 rabFE:% da'sdg 500,000 Ba3d) edeaari 2ecd DeBTO, edemyart 2iecd VeB 20
JAr8,08 88D SobdR ezhedE® endeodhd @ooBBS0 Joakoly Ao

The given figures depicts the country-wise and age-wise distribution of people who visit
China for business set-up.

If in a given year, 500,000 people visited China, then the number of American nationals of
the age group below 20 years who visited China is:

Ans X' 1.190.000
< 2.150

W 2180,
< 4.200,000

Q.4 Oioba Bolee wrin rgo0 Oeind S ie o83 F03 3Epest) obrl 20rf Sduedord
adesssSodiad), @b, ZroBnd, uu berf sColnss:
Reliance Jio Infocomm Ltd. is planning to launch its own cryptocurrency called:

Ans x &)a) ezadh®

Question ID :9864494408

Status : Answered

Chosen Option : 4

CryptoCoin
, 2)F madb®

BitCoin
, 2aleethde

 JioRupee
, 20l pemaca®
JioCoin

| Q5 [ |
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20 esBodh Za0bNoD 24 Tamr 8D Fobd) IToNTD. 20Ed TNy Joas esdob Question ID :9864494562
sacbob Sobad), esdob Sobds Ef)m?‘rbgd 2y Bas Soba), (Sarrivd) om)? Status : Not Attempted and

. . . s Marked For Review
Jina is 24 years younger than her mother. Eight years hence her mother’s age will be 3

times her age. What is Jina’s present age (in years)? Chosen Option : --

Ans X' 1.26
<224
W3 28
<422

Q.6 werivy Bosj; eegerieoy Bosd; dhd) &,z SoalNivR) B8BTS Jesmeiza)-
Question ID :9864494788

The diagram that represent rational numbers, irrational number and real number 1s:
Status : Answered

Ans

Chosen Option : 4

F

0OE

Question ID :9864495092

Status :Not Attempted and
Marked For Review

Chosen Option : --
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Ans

Earnings per day

Salesin ¥

o b ¥ B EE B &
N
-

P AP P e S

ehed Oeare 2@ aln) s5bd, 2000 NEAT wid), Baad () :

Earnings per day

:: —\

o £\
wlIN_/ \

v =] \7 —
i_.,,,l/

fﬁpﬁre‘fﬁr > 'ﬁu“

Qp (13).html#

Based on the given graph, the total money earned (in ¥ ) in the week 15:

< 1.3.000
25 2. 2.600
#< 33,500

o 2. 2800

Q8 FYNIYrival ©00E LLBoRDT @t

Ans
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(1) 3o

(2)e39;830
(3)338
4) 2, BeEee

Question ID :9864494631
Status : Answered

Chosen Option :3

(@) Tomanhd)s Bobah Jthye’ FdobmyN BODSrLTT

(83) Bpd BSODRY, I BaaeN 2OSSES esrH3T

(&) Belmecsoed® noel
(63) e59e#

Match the following with the correct answer:

(1) Work

(2) Battery

(3) Power

(4) Microphone

(A) Chemical energy converts into electrical energy
(B) Sound energy converts into electrical energy

(C) Kilowatt hour
(D) Joule

/< 1.1-D, 2-C, 3-B, 4-A
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2 2.1-D, 2-C, 3-A, 4-B
W 3 1-D, 2-A, 3-C, 4-B
7 4.1-B, 2-A, 3-C, 4-D

Q.9 =aie &d) Ay Besriv 4:50 edarends. 9@by 0 wes), Besd) 72 kg 50,

Smolred dadaa ? Question ID :9864494815

. . ; . o Status : Answered
The weights of Jaya and Vijaya are in the ratio 4 :5.If the total of their weights is 72 kg,

what 1s Vijaya’s weight? Chosen Option : 4

Ans "1 34kg
X 2.42kg
X3 32kg
W 4 40ke

Q.10 COLON l AL Question ID : 9864493763

Status : Answered

Chosen Option :1

& 2hedE B0 39,8 T8 $E Rehc:

COLONIAL

The mirror image of the above figure 1s:

" X+ LAINOLOC
<= JAINOLOD
v- JAIMOJOD
x+[AIMOroc

Q.11 durt dedenss
S

33 am0) YR Bl EeoBAeWyS STy, e,

Question ID : 9864495049
Status : Answered

Chosen Option : 2

7\

Select the option that will correctly fit in the blank space in the given figure.

Ans
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Q.12 0i7eBriah Beotd, Bzarda) @-e3,2,0 SFedTe) ’?\’nr{ai;h EINEISlonY dr\ig‘ D
h03,0be30 ey e1eda wdoldd eiohd ddnd Sreiah?

For whom has the Union government launched the Accessible E-Library, ‘Sugamya
Pustakalaya’ in New Delhi under Prime Minister’s Sugamya Bharat Abhiyan?

Question ID : 9864494451
Status : Answered

Chosen Option :3

Ans * 1 Rhad)
Men
o E3N°) raeeied

Transgender

o obh

Women
ARSEIGE L hlaleiamis)

Visually Impaired

Q13 96, 156 &b 60 T eh.ve.e9.8)):

The HCF of 96, 156 and 60 1s:
Ans X' 1 3

Question ID : 9864495063
Status : Answered

Chosen Option : 2

X< 24
< 348
W12

Q.14 3¥NA 8358 a0 werind) addsen derhs eah,oba ¢ .

?

Question ID : 9864494719
Status : Answered

Chosen Option : 2

Select the option that will correctly fit in the blank space in the given figure.

?

Ans
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< 2

X 3.

v &

RRR RN

Q15

Ans

Q.16

Ans
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Zhath ﬁoaiﬂn’ﬁ doeabaly 15. S5 deese Fex* Feedodo 8 S odd ed 33, ﬁom’ﬁn‘@

ENEATAR dﬁa?ééd) 1 e3P, guedh 505@@ Uz%od deg éoaiﬁohk

The mean of three numbers 1s 15. The range of this data set 15 8 while the difference
between the two smallest numbers 1s 1. The greatest of the three numbers 1s:

K122
v 2. 20
< 318
X< 424

Question ID : 9864492758

Status :Not Attempted and
Marked For Review

Chosen Option : --

e Sedd
A B,

208 B3 ewnzrivd AR deuEsnd oo

TeeS :
3¥0 2 Taonv see Dadohy) Srhe, @d eladbedeny eiody wnwenis eudhic.
PNBR:

1. 812 Ze0dd S, @3 elechedeny wfdioly oJed 8@n wdoehd.

2. 2 z5e0n¥ &od, Biche, ehad) edneheled didnivh aE dndnos Hmene.

Consider the given statement to be true and decide which of the assumptions is implicit
from the statement.

Statement:
The price of onion and tomato had remamed unchanged for the past 2 weeks in Delhi.

Assumptions:
1. Onion and tomato price had changed elsewhere in this 2 weeks.

2. The prices of onion and tomato 2 weeks ago were different from their present
prices.

Question ID :9864494769
Status : Answered

Chosen Option : 1
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, s 1 anE arismens.
X
Only assumption 1 15 implicit.

Q.17 w0d Sheweisd CuSamponn). «ied o5ed SuHnval, @remha woririern B8.

The organs that have the same basic structure (or same basic design) but different
functions are called:

ans I, esorinid

1.
homologous organs

* 5 wolpeedFedz* Soded
biogenetic law
x 3 RY0lnLIM

fossils
DT ea0rinwh

5 4
analogous organs

Question ID : 9864494948
Status : Answered
Chosen Option :1

Q18 5,0t Few cota=+/2 + 1 3833 tana - cota & 3P am,?

Ifcota=+2 + 1, then the value of tana — cota =7
Ans «1_ -2
X 2.1~ -..‘."E
X 3 2,2
P 3 V2—1

Question ID :9864494527
Status : Answered
Chosen Option : 4

Q19 3e30eY (Mereeriam) S obredd Lo deR)rieyey Fe0nNG:

Fertilisation results in the formation of a/an:

Ans x 1 2ol Teed

Germ cell
% 2 MMachees®
Gamete
. e90E oD
F )
Ovary
3 ériraeeaf
4.,
Zygote

Question ID : 9864493517

Status :Not Attempted and
Marked For Review

Chosen Option : --

Q.20

v 1 2ha 2 odde snanw drdaoNa.
1.
Both assumptions 1 and 2 are implicit.
x e 1 esnidde eagdeye 2 esriede DeiETNG.
2.
Either assumption 1 or 2 1s implicit.
_ s 2 dE) Arismens.
< 3.
Only assumption 2 15 implicit.
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Agm D@ Cl Jedoart evoe3arda So0insd alrec)th?
What is the compound formed when Ag™ and Cl- combine?

Ans - eMRER BRes, T
X 1 ”
Argon Chloride

eSTTef ) desieest
| Argon Chlorate
e, 0° Bpedets®

Silver Chlorate
Q80" Eed fles

Silver Chloride

p )

3

v

Status : Answered

Chosen Option : 1

Q.21 157 a3t ogoh 2:e3), e T 29763.65 6AGD, (0w B3am03 myad, 090w on ded)
200th Oeest® agod i) o= ?

If the cost of 157 litre of oil is T 29763.65, then what is the cost per litre (rounded off to
two decimal places)?

Ans X1 T 182.06
v 2 7 189.58
X 3. ¥ 17831
< 4. F170.08

Question ID : 9864494852
Status : Answered

Chosen Option :1

Q.22 A0oEcmed Seride) ZairnsbIda 2.0t Jyen otk BT Sdunsdd wy
Fariva, BTN 4 FBowrih b 4.2 FSorTiv IhohDY B /meE Feervad.
detore Faab 45 kmh Feridd) Ideindgd odde daa 6 kmh dericd)
Sl adsed. Fermcd kmh 39 9,0- deriday?

A train travelling at constant speed crosses two persons walking in the same direction in 4

seconds and 4.2 seconds, respectively. The first person was walking at the speed of 4.5

km/'h while the second was walking at the speed of 6 km/h. What was the speed of the

train in km/h?
Ans < 1. 40
v 2 36
X 342
X 432

Question ID :9864494560

Status :Not Attempted and
Marked For Review

Chosen Option : --

ABrg Adedod B aeointiran) 308 8Radd, pobod aose 808 omNEE?

9$YXEN6OLBUIZT@1QFD%

If the second half of the given series 1s reversed, then what will be the eighth term from
the right?

9SYXEN6OLBUIZT @1QFD%
Ans X' 1]
v2F
x3Q
< 4D

Question ID :9864494724
Status : Answered

Chosen Option :1
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[ IGR J— T =2 —f
Q.24 D oFes o DIpera’ et Do TS S BauE, 06 OBdre v Question ID : 9864494435

o, Qe IR0 g3 H8,0 TagyD Sayehod) ohaTR, B0 Status : Answered

Name the Sikkim Chief Minister who was honored with the Sustainable Development Chosen Option :2
Leadership Award by The Energy and Resources Institute.

Ans . Do 2390
v &¥ “

Pawan Chamling

2) 2) rbbore
5 2
B. B. Gurung

~0° BT LJotzed

Nar Bahadur Bhandari

x4 moedadras’ dowe
Sanchaman Limboo

< 3.

Q.25 %2, Faodn ‘0’ DothAeE @dodaTad, ‘A’ Dothar) Bevmen @ped 36 20
Question ID : 9864494738

Status :Not Attempted and
Marked For Review

km Sarecdh@s. o3 wed, AR, B’ Doy, Senzen, 10 km Boindahad. 63
wod, 3, «C* Dorha), Bwsw, 9 km Solrddheys. a8 wod, DA, D’
vl)od)aiai& Senzen, S km @oimsﬁﬁn@d, &ert es3 adsﬁ SR, B? ‘E‘.’JOIﬂJdRiD)‘ Denme,
12 km Boieelimys. Borte o3 wod, SN, F> Domha, SwwEew, 6 km

@ oiredbEas.

Chosen Option : --

‘E’ Doth @a) ‘BAombIN SBha athad ede 56D 0030 o= ?

A man starts from point ‘O°, travels 20 km towards East to reach point A’ turns right and
travels 10 km to reach point *B’, turns right and travels 9 km to reach point ‘C’, turns right
and travels 5 km to reach point ‘D’, turns left and travels 12 km to reach point *E’ and
then turns right and travels 6 km to reach point ‘F°.

‘What is the shortest distance between point ‘E’ and point ‘B*?

Ans Xl- m
v 2 \[166

X 3.\/145
< 446

Q.26 FYN rbodri

eﬁoi%ozhdg{ 2506,

2508

Select the figure that does NOT belong in the following group.

AEE &
Ans ?1(:1_32 3 ‘

x 2.1

X322

V4

Question ID : 9864494282
Status : Answered
Chosen Option : 4
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Fadrooen hI0TvaTomd GO,
Teod:

27 283uhy uJe3 Zg) 37 VD eodgdod sumed oy Berid
e dearTanth.

Tewdvega:
1. ©0adnd g7, 832dhod hdh @Begalhd) Sdwledh.
2. 3g), ggnen rex’ vosnva, Jdedlen.

Read the given statement and decide which of the suggested courses of action logically
follow(s) on the basis of the information given in the statement.

Statement:

The question paper had many wrong questions due to which many students failed the

Courses of Action:

1. Re-conduct the examination with the correct question paper.
2. Grace marks should be given for wrong questions.

v 1 2@ 2 ofde ehadaag)do.
1.

Either 1 or 2 follows.

. Zedie) 2 eachmbaand.

< 2 -

Only 2 follows.

1 2@ 2 otde udhadan.

Both 1 and 2 follow.

. Zegde 1 sbmbman.
X :
Only 1 follows.

< 3.

Question ID : 9864495024
Status : Answered
Chosen Option : 4

Q28 g FYN FD0hch, BOBO:

Ans

(=6)[40 = {7 — (=3)}] =2

Solve the

o
=

(—6)[40+{7 —(—3)}] =?
<124
< 260
< 3. —60
W24

Question ID : 9864492819
Status : Answered
Chosen Option : 4

Q.29 oth B2 B0 3.5 kHz STTEIT, DF) 0.1 m SoorMOBTHY, BHOBT. 700 m

Ans

aodessen o o), daboba) Srichdedyge?

A sound wave has a frequency of 3.5 kHz and wavelength 0.1 m. How long will it take to
travel 700 m?

Ki1s

X 215s
<3308
vi20s

Question ID :9864493164

Status :Not Attempted and
Marked For Review

Chosen Option : --

file://lhome/chronos/u-db39d429d36d4f4507bd5cd436b30681f5¢c7c5a9/Downloads/Qp%20(13).html#

(

11/26


career.aglasem.com/railway/
https://career.aglasem.com/
https://aglasem.com/

9/14/2018 Qp (13).html#
Q.30

Question ID :9864494800

Status : Answered

Chosen Option : 1

e 23ZVADS e, 178N oajady.

The number of squares in the above picture 1s :
Ans X1 4
<25
<38
v

Q.31 B3.ab ridad ehee 8 FIBBe3 Trdd (B, 233) D LvoETrHa
238,30 esBHD Question ID : 9864495017
=) =2 d

Status : Answered

Chosen Option :1

Ay o33,
-

IR
o (e

Select the Answer icts the following transparent sheet (Problem Figure)
when folded at the dof I,

Problem Figure

o B
o BIf

A B
Ans X' 1. A
o
< 3B
K 4D
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Q.32 3-030h woth Togfohd, I3z mﬁd@d}aﬁ 030l HT méaidgdmi ©03M03Le 4
a—im& ﬁ‘ea‘;_)’ﬁd, Db dziﬁdef)md)d 030k HI mérddegd)aj e0dNozdewn et af.al
@ea N, Swede wodnd g 8 8hs. BImss Soslohds o3z @dde%d)aﬂ 303
odragdh?

Question ID : 9864494871
Status : Answered
Chosen Option : 2

In a 3-digit number, the hundreds digit is 4 times the units digit and the tens digit is thrice
the units digit. The sum of the digits is 8. What is the tens digit in the number?

Ans J1_3
X209
<36
Xaq

Q.33 DI X DF Y 1 toerd Beduich. ", Socdob Bori3ab S0 3, B8z, egad,
oNChET FIMEd, EF Y & sbrivd MPoF X & .

Mr. X said to Ms. Y, “Your father’s wife’s sister is my aunt”. Ms. Y’s daughter is Mr. X’s
—_ Chosen Option :1

Question ID :9864495076
Status : Answered

Ans 1 65&3@&:1%
Brother

5 2
Gega ufoe B¥Ea S D/ (Feerdttowod)

Cousin

X3 200 /tai%

Sister
RReN0 Apd/[Aperndod irw

Niece

v

Q.34 zoard 8% 0% waleodn, Bnd gl 3% Saendd T 608 esrhde. s ®008

nad St ? Question ID : 9864494557
2oED ) !

. Status : Answered
At 8% simple interest per annum a sum of money becomes T 608 in 3; years. What was

the sum invested? Chosen Option : 2

Ans X1 F 450
VEEFY
X334
X 4 T 440

Q.35 g I elha ol ﬁoaiﬁojn 16384 d @nraweesng? Sseiion (5 ST

‘Which of the numbers given below is the square root of 16384? Status : Answered
Ans X' 1 118 Chosen Option : 4
<2132
W 3128
X 4122

Q:36 '3 Bedobh Tecdadred ehed evoednesies® oiea Bedne) BADTD?
In which country was Marie Antoinette, the last queen of France, born?

Question ID :9864494489
Status : Answered

Ans £3679 Chosen Option : 4

=
r
Italy

file://lhome/chronos/u-db39d429d36d4f4507bd5cd436b30681f5¢c7c5a9/Downloads/Qp%20(13).html#
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o eséh olve
v 2
Anstria
olelaleled
K3 7
England
nes®

< a -

Greece

Q37

@, A, word el 53%0835.3( 18 foednvd) Sodswach, seriobe 8,5 B 2.0t
oe)has £39,08 30 MoeINYY ared Arenidnd. €39,05° edalredaer, 3,57 A
200 Noedoh aERhB3 sxf sNDHZE D) So3d sa® shdad. S wod
£39,08:3083 220t Noedohacrt &,5° B Sheos Jed) w0 anduerbEd ) Sosd
Eﬂdé& e ebeduarbda. £33,05° 2}3roirarba Ba3z &3 wedohe word rogdob
ezDobadrt ééa‘ﬁvaig( @odreroheeN SODEUNR). @ereddd £99,05° 233rodrarien
o) Bzhob Srichdrodied?

Pipe A could fill an empty cistern in 18 hours while Pipe B can drain a filled cistern in 30
hours. When the cistern is empty, Pipe A is turned on for an hour and then turned off.
Now Pipe B is allowed to drain out water from the cistern for an hour and then turned off.
The pipes were alternately left open for an hour each time till the cistern was full. How
much time did it take for the cistern to be full?

* 1 86 Moed 40 Achariwd

86 hours 40 minutes
86 Motd 48 Ach@nyd

86 hours 48 minutes

* 3 90 roedrwd
90 hours

X 4 45 roe3nsd
45 hours

v &)

Question ID : 9864494561
Status : Answered

Chosen Option : 2

Q38

2,000 Swepeddn Daeeciea™ Ted ﬂoaia 208 &3N3, i mééobnﬁ‘ 196
AaERaTiva @vobgd, odd s dos); oragdch?

The mass number o
is its atomic num

ope of an element is 298. If its nucleus has 196 neutrons, what

Question ID : 9864494636
Status : Answered

Chosen Option :4

Ans X' 1 2980
W 2 1020
X 3.196.0
X 4. 4940
Q.39

file://lhome/chronos/u-db39d429d36d4f4507bd5cd436b30681f5¢c7c5a9/Downloads/Qp%20(13).html#

Question ID :9864494740
Status : Answered

Chosen Option : 1
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& SURS SB,aby L0 DI ARIDA BeVBVE BRI D TIERrHZE 0Ty,
GBS

CHINA 1t ®eri Sodedzennd?

dewsrivh:

1. CHILE &), ECTHL ooth Jodedmusrbass.
2. EGYPT wa)) TEYGP ooth Sodedmeerhan.

Read the following question and decide which of the given statements is/are sufficient.
How is CHINA coded?

Statements:

1. CHILE 1s coded as ECIHL.
2. EGYPT is coded as TEYGP.

<L
5211 eugdae, 1 2@ 2 oTds w3 Tezerhad.

Both 1 and 2 together are sufficient to answer the question.

5 2

2 Sredele meoerhds, BEc P uadae deader 1 e Desarbade).

2 alone is sufficient while 1 alone is not sufficient to answer the question.

< 3.

1 Sregdle mazanbdd, eud S evgdw dedo 2 Snd Tz baBY.

1 alone is sufficient while 2 alone is not sufficient to answer the question.
v

21 eugdTen, 1 ende sgoe 2 arde TezerbEs.

Either 1 or 2 1s sufficient to answer the question.

Q.40

17, 2330 2018 dord awoed, 3O ARNE Seddoss, etsn Sy eyt e’ deeyd
AdAzBoN VBT Bowcl’ Sreoutst® B0 ¢EIdE, b, B0

Wame the autobi anjay Manjrekar, the former India batsman-turned-
commentator, v ed in Mumbai on 17 January 2018.

=2
<9

b
‘Sunny Days’
‘gedbor’ @es® e, e
‘Playing It My Way’
‘QODHESS]

< 2.

v &)
‘Imperfect’
"D Bdaeden® woleerid’

‘The Definitive Biography®

<4

Question ID : 9864494409
Status : Answered

Chosen Option :4

Q41 g YN olyedd Dosd;0dw 9 Bod NPy SEE?

Ans

file:///home/chronos/u-db39d429d36d4f4507bd5cd436b30681f5¢c7c5a9/Downloads/Qp%20(13).htmi#

Which of the following numbers is divisible by 9?
< 187654

Question ID :9864494574
Status : Answered

Chosen Option :1
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W 2 47862
< 356765
< 454321

Q.42 84 beestf gl ENiED, 7: 5 O d@esnd) delisoend, eddd evgaeNths Bro
Question ID : 9864494895

208 e (beeso” nYY): Status : Answered

If a rope 84 m long is divided in the ratio 7 : 5, then the length of the longer piece (in m) Chosen Option : 1

182
Ans X 1 50
W 2 49
< 342
< 445

Q.43 ABONDT T 2TNPAE Fowortodobe Bowod BeohhE wBredobal, B00.:

Question ID :9864495029

®e : LD Bea’
Status : Answered

Select the pair of words from the given options that shares the same relationship as the
following word pair. Chosen Option :3

Teeth : Toothpaste

Ans 1 SV : BT0F

Face : Powder
- TRT : mgoﬁra
v 3
Hair : Shampoo
, 200D : @D
Foam : Soap
rHof : 22ex’,

Button : Jeans

< 4

Q.44 eceTF ez HEd Serf, Betf B3 defedTen wdodidd) doref & AderdEd olredh?

Who is the director o Question ID : 9864492382

Status : Answered

ilmfare Award-winning movie Dangal starring Aamir Khan?

Ans
Chosen Option :3

Anurag Kashyap
SUR® BReHm0°

Karan Johar
~NEerf 30
Nitesh Tiwari
MPa3=F cade® ahalaf

< a4
Gautham Vasudev Menon

Q.45 2,0thH JDFF D30k 2oTH 3oMPS[Y 320 oIwes ?Sécﬁmgt wPad. @ermende am

ot o B30kAE? Question ID : 9864494652

A certain household has consumed 320 units of energy during a month. How much energy Status : Answered

is this in joules? Chosen Option :4

Ans X 1.10x 1057
K 20x108 T
M 35x10% 7
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v 41152 x 1067
Q.46 ez becbeNoz 10 Sar tegdswd. ehah edb Neeb Nod 7 33 degsw. asdyd
o v eoea, Hog) 48 Saerish oEd Aebyl Sabab, (Faerive) amy? O IR Rl
Neetu is 10 years elder to Meetu, and Meetu is 7 years elder to Geetu. If the sum of their Status : Answered
ages is 48 years, what is Neetu’s age (in years)? Chosen Option :2
Ans X127
<222
<328
v 25
Q.47 addh Bedobh 3FeeRny erbrbeos LBNY BabsssEd) 2: 3 8Ngd, ogny

erbronmTE oMY smEY Question ID :9864492478

If the ratio of the corresponding sides of two similar triangles is 2 : 3.then the ratio of their Status : Answered
corresponding altitudes is Chosen Option : 2

Ans X'1.3:2
< 216:81
va2:3
K44:9

Q.48 .
Question ID : 9864494796

Status :Not Attempted and
Marked For Review

Chosen Option : --

ahed w3
degain) aieed @rw
afeed JeBwT, 8Toy 40

e @) Bobd R exbrbesaren oy @etss,n o
"), NeRBE. woth SREEY o meri 500000 B
), B2 sdhd) A wehedon® SEny doal; om?

The above figure gives the country wise and age wise distribution of people who visit
china for business set up

If in a given year 500000 visited china, then the number of American nationals who
visited at with age group above 40 years 15
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Ans X 1. 50000
W 2. 60000
< 3. 45000
< 4. 55000

Q.49 Xzdr 20w deedmas, Y 3e90, "X I Zadbod eyt ahis abhriwy". memsd, Y

= @edboin X1i .

Pointing to X, Y says, “X is the daughter of the only son of my mother” then Y s mother
isX’s

Ans 731}—@’23
X1 TF
Great grandmother
X 2. a0l
Mother
o

Aunt

e
« 4, =
Grandmother

< 3.

Question ID : 9864493848
Status : Answered

Chosen Option :3

Q.50 3¥NT egnvd dregdch dogabe mesbrdr! odabd?
Which of the following statements is most appropriate for transition elements?

Ans X1
PIPNY 3 DETND D MY mpraND

Three of their outermost shells are incomplete.
v &)
OPNY 2 DRTND T N BmparaNd

Two of their outermost shells are incomplete.
MY TR0 TP M) ORREfTND

Th&

53

r
eI ‘cic‘\g( @R Bes ﬁ%@ 2ED), 8 tatimyaf ﬁ%ﬁ& ﬁ@oﬁ)d)éai

ost shell is incomplete.

They have eight electrons in their outermost shell.

Question ID : 9864495003
Status : Answered
Chosen Option : 4

Q.51 wowmeN axdd 3ot 10 FFoETiY Sodv Sod, DowEd. v adebees Serid
CoE), ot &BME? (2.0th ey’ g =10 m/s? ).

A ball thrown up vertically returns to the ground after 10 second. Find the velocity with
which it was thrown up? (if g = 10 m/s2).

Ans  of 1100 m/s
&< 2. 600 ms
< 3 60 m/s
< 4120 m/s

Question ID :9864494670
Status : Answered
Chosen Option : 1

Q.52 T Jeshaatr, eoddeoh Faolnoies woeldobo® thd) oodes® do—oj,%mﬁdg, =2}
0133 B ® ISerBBoN B0 SadER0BATRT:

S. Somanath, an Indian aerospace engineer and rocket technologist, has taken charge as
the new director of:

Ans

Question ID : 9864494404
Status : Answered
Chosen Option : 2

file:///home/chronos/u-db39d429d36d4f4507bd5cd436b30681f5¢c7c5a9/Downloads/Qp%20(13).htmi#
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<1
0 8300 BDYD® D DF (AT (©.d.OF°.0db)
The Auxiliary Propulsion System Unit (APSU)
0 @rie, deaed,e3° F0e3TF (20.08°.0.d)

< 2.
The ISRO Satellite Centre (ISAC)

v &)
)BT U308 & e DOEITE (). OF . )
Vikram Sarabhai Space Centre (VSSC)

D T e vddeas’, FoeT* (o7 .0.d)
< 4 N
The Space Applications Centre (SAC)

Q53 Qerderd rhodaod rhodrt Jedd Ea) esbIT0.

LT[R

A B C D
Select the figure that does NOT belong in the following group.

ZRAPSE

Question ID : 9864495016
Status : Answered

Chosen Option : 1

A B C D
Ans « LB
N2 A
x.. 2 D
F N
Q.54 3S0wcf 2017 G &RUEE @ebo wad, aurjahben Bondgaba JE0 Gya)
Rhad Question ID :9864494487

Tdentify the venue of India’s first Tribal Entrepreneurship Summit held in November
2017.

Ans « Sed, rhwoeEk
1.
Kutch, Gujarat

aiédmma‘, ®e)0TT9Ed
2

| Hyderabad, Telangana

D083, ei3ex® T
3

| Dantewada, Chhattisgarh

Status : Answered

Chosen Option : 2
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Jee I0MIONF, 9390
4

Karbi Anglong, Assam

Q55 YN 0lrePYrh ITY D933 Lormeod[e?

Which of the following is NOT a simple permanent tissue?
Ans -
1 @e00dze (Parenchyma)

Parenchyma

- ﬂe‘ﬁdoeﬂ 4,379 (Sclerenchyma)
Sclerenchyma

x geejosd,=379 (Collenchyma)
3.
Collenchyma
v &, dar® (Xylem)

Xylem

Question ID :9864494965
Status : Answered
Chosen Option : 1

Q56 i) ﬂaﬂoé et adarecn odrag)ch?
Which of the following has the largest sized atoms?

Question ID : 9864494984
Status : Answered
Chosen Option : 4

Ans « 1Al
<28
K3 P
X 4 8i
Q.57 X7 To3k0in YR Borich 9F,% Wit U, N YR 2R@itin X7 ehtmA

If X's mother is the only daughter of Y's father, then Y"s husband’s sister is X’s

Ans g2

i -

5 2

~ 3

Xa'

Sister

Question ID :9864494774
Status : Answered

Chosen Option :3

Q.58 woth FRTR Sericd) BODIDEE Tyen 50 FZ0F MY 338 cbeest® tﬂﬁ& BhrEn.
BImsS ond Seriday?
A train moving with a uniform speed covers 338 m in 50 s. What is its speed?

Ans X 1. 776 m/s
v 2 6.76 m/s
X 3 4.76 m/s
#4576 m/s

Question ID :9864494949
Status : Answered

Chosen Option : 2

Q59

file://lhome/chronos/u-db39d429d36d4f4507bd5cd436b30681f5¢c7c5a9/Downloads/Qp%20(13).html#
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3YAR 233, Adeiadhe) dwowd wdha esadyab) esdD. Status : Answered
Chosen Option : 1

it

7@
+ +

A B C D

Select the option that will come next in the following figure series.

4 4

Ans X1 A
voc
X 3D
< 4B

Q.60 301 0 DocbAdos Bch airl eed, 20 Seloedesich WO Doch ‘A obly Bewa,
208, 3R 2 10 Selmecdeeach O Dord B Bend, BoF, IDHA 9 Seleceech oREatelipit i s
393 Dord 'C b, Bend, woF, SHA 5 Selaedhesth O Dord D' obl Bewa, Status :Not Attempted and
Marked For Review
add, 3N 12 dedpeheest® w¥3dd Docd 'E' ojmlg( Bend, eseheet wod, 3N 6
selmedheesch 5O Dorh ' ol BwRmss. Sl B8 AnasreBcs B, aeemh? g Qi -

A man starts from point ‘O’, travels 20 km towards East to reach point “A’, turns right and
travels 10 km to reach point ‘B’, turns right and travels 9 km to reach point ‘C’, turns right
and travels 5 km to reach point ‘D’, turns left and travels 12 km to reach point ‘E’ and
then turns right and travels 6 km to reach point ‘F°.

In which directiomnd facing now?

Ans —
38

West
e
South
IrrAL
East
VS0
North

< 2.

p )

v

Q.61 AABCobg), AB=10cm. £A 0ip D abe), BC ably @oz3d3zen elebxd 3. BD =6 cm,
Question ID :9864494905

e DC=7.5 cm. CA & evg) bb? Status : Answered

InAABC, AB = 10 cm. 2A 1s bisected internally to intersect BC at D. BD =6 cm and DC Chosen Option : 3

= 7.5 cm. What is the length of CA?

Ans X' 110 cm
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#< 2.10.5 em
v 3125em
< 412 em

Q.62 YT Sebalped ehdh Sreveed cheel sabof eath 12.5% el NdabEed. edth

SRy, T 1680 B a10eBIBT, e, e o), B o SRAmRS? Question D :9864434578

. . Status : Answered
Qamar gained 12.5% on the resale of a used stereo. If he purchased the item for I 1680,

how much did he sell it for? Chosen Option :2

Ans X' 1. ¥ 1900
< 2. T 1,880
X 371910
W 4 T 1,890

Q.63 1 3¥NS 27, LY. APYNVOT olreed Bevd/ Bewsnwh mezarbIH/eS aoends
ABEO.

B,

“Y = 0" &0abe? Chosen Option :4

Question ID : 9864495133
Status : Answered

Bedsridl:

. X+Y=0
2. X-Y=>0

Read the following question and decide which of the given statements is/are sufficient.

Question:
IsY=07?

Statements:

. X+Y=>0
2. X-Y=>0

Ans X1

2 @03, ©emrd38 BT0 =7 obdl), tu30eL 1 anE, SvErbyhe.
2 alone is sufficient while 1 alone is not sufficient to answer the question.

5 2.
23, 0bhy euUZORey 1 ) 2 S0 THEIHIS.

Both 1 and 2 together are sufficient to answer the question.

< 3.

1 2793, @aSa

o7 obah evsdaty 2 SeE SvErdPde.

1 alone is sufficient
v

a’g,a;ojjajgt o307 1 85oe 2 80 argtie Gezarbyhne).

one is not sufficient to answer the question.

Neither 1 nor 2 is sufficient to answer the question.

Q.64 woth Ity Jaarer J 1 Sdpeyts @yt Rl 1 Mo Ao 1 duatayesr

Foe? SRR AT 38 LYRIEE. B0 Beck B¢ TRy FEFBS. Question ID : 9864494975

Status : Answered
1 kilowatt hour is the amount of electric energy consumed when 1 kilowatt power is used

for 1 hour in an electric circuit. Express it in joules. Chosen Option : 1

Ans X 1.63 x 1087
K246 x 1067
K 363x1057
v 436%1087

Q.65 Ledor’ PBobl, edri Hadmer Drdridodrerba e adrehh? )
o Question ID :9864494699

Which gas is released when bleaching powder is added to water? Status : Answered
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BUBRTT (B,T0,e237)
| Hydrogen
QOIS By 88 T

p

2.
Carbon Dioxide

. ﬁ@eaem‘
3.

Chlorine

RO aimea‘aémémﬁ
4,

Carbon Monoxide

l Chosen Option :4

Q.66

Ans

033 AT cm:gdeg 2R0360, Hotnei e Julird @dedns wdds?
In which modern Indian state are the areas of Konkan, Marathwada and Vidarbha located?

v aﬁ:mma‘é
1

Maharashtra
0. @D

X2 P2
Madhya Pradesh

x 3 riyz.?ma“

Gujarat
, BT EIT
Karnataka

~x

Question ID :9864494502
Status : Answered

Chosen Option : 1

Q.67

2B wowd rieedn og) 25 e 10 Noedriy Jebodb Srichdpwyzes Sah wed
rlredahad, g Sremhghed, 12 foednva SrichdedyEes. ®Ngd wds Bz 2208
@) D BB 222,000 2,00 Motduhos dum BhalnBno dehoes® Sid rivedonah,

eagdch c:)Ea'a r‘iodriﬂ.ﬁeg dog) ?.Jsgaid& éeg‘maizd)?

Brajen can pamt a wall red in 10 hours while Ballari can whitewash the wall completely in
12 hours. If Brajen an art work alternately for an hour each starting when the wall

has just cement o

paint the entire wall re
< 1120
< 2.108
< 3110
W 4109

it is completely painted red, how many hours will it take to

Question ID : 9864494899

Status :Not Attempted and
Marked For Review

Chosen Option : --

Q.68

Ans

20th &> BB, sdobey w0t ShEa, 20 Foe3een® SDEATIDE el
aﬁiﬁécxh 30 @oedeheesf RonY) we3s ond &5 53005 Fandd. Hmess o
B Bdbor 8380 Sdda wodd a@)?

An object is placed 30 cm before a concave mirror of focal length of 20 cm to get a real
image. What will be the distance of the image from the mirror?

&< 1.40 cm
< 2.20cm
< 3.30 cm
« 4 60 cm

Question ID :9864494993
Status : Answered

Chosen Option : 2

(
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Q69 g5 ZWAR oId BePBhy BRDBEBZIAE? Question ID :9864494680

Which of the following statements is INCORRECT? Status : Answered
Ans « 1.

dneBoho B,098 ,0F (NaOH) & Swe Fereasy AeeBobo sddeabriv wéc‘géoi)

Rlelxlalolapiploiial

The basic nature of Sodium Hydroxide (NaOH) is due to the presence of sodium ions.

03 REYE® BT, BEOBDIT

Chosen Option : 1

2
Lemon contains citric acid

< 3.
dpemnisd vud oF ,Grivh 33300 edeohm N3

Nonmetallic oxides are acidic in nature

54
Siollartaiiald) ﬁmﬂﬁ)ﬂe@aﬁ rberedd wed, I

Phenolphthalein turns pink in soap solution.

Q70 ), abo e ees’ 3 esedB FTFTeh? Question ID :9864494698
What is the molecular formula of Calcium Phosphate? SRS AT
Chosen Option : 2
Ans x 1. Cﬂ(PDqJZ
W 2 Cas(P0,):
X 3. Cag (PO4)3
< 4. CaPO,

Q.71 @, A 0l @90 £33,05° oY, 6 Moednv) EdadEd, 8,5 B ob tled Sedus 4 .

" Question ID :9864493012

roednyd) 2odRga. 85" B obal, @9d) 00h Roedohad exf &b So30 8,5° A S o d
atus : Answere

erh, B 6 aEuend. NGO £39,05° conw tesarba Sehob o ? .

= o “ Chosen Option : 1

Pipe A can fill an empty cistern in 6 hours while along with Pipe B it can fill it up in 4

Ans
4 hours
% s, 4 roed 25 Dabd
4 hours 25 minutes
x4, 4 roed 40 Dbz
4 hours 40 minutes
Q72

Question ID :9864495060

Status :Not Attempted and
Marked For Review

Chosen Option : --

file:///home/chronos/u-db39d429d36d4f4507bd5cd436b30681f5¢c7c5a9/Downloads/Qp%20(13).htmi# 24/26


career.aglasem.com/railway/
https://career.aglasem.com/
https://aglasem.com/

9/14/2018 Qp (13).html#

»
-

QeBT wodeodriy derd ebrbemeh Bhd) dabd
eIrbrbeacan a“.;ﬁmda‘dg‘ @mrobaw eyt wewd deda wad

80m Boasdabay, B3 aEu.

20T damq, 500,000 =3dh wdervart wieed AeBTd, Levari
eieel e 20 Bodd 40 Sz Sabd S Fabr,0O Dela’ Fedrid
woad;ody wwanG:

»
-8

The given figures depict the country-wise and age-wise distribution of the people who
visit China for busi .

visited China, then the number of British nationals in
< who visited China ig:

If in a given year,
the age group between

Ans X" 140,000
2< 230,000
< 3.25.000
o 420,000

Q.73 a3 L8 Shdd £320 e, oow 20GER BotyEtabey &, i85, deedn Hzaon

3Bes sarmtd ooth £.4.4.0000 Swedde oian oy 4F0° & FYNIITY
Oirlerlainriel] Status : Answered

Question ID :9864494420

Who among the following is India’s left-arm spinner who is the lone cricketer to feature in Chosen Option :1
both, the ODI and T20 teams of the year announced by the ICC.

Ans e e
F N

Neetu David

eI0%) ﬁém"’

x 2
Anju Jain
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. SOEee) Toef
<3
Mithali Raj
. HT DT
v - ¢
FEkta Bisht

Q.74 @Brdecdeeris® Sodcdod alor] ﬁdﬁ')ﬂdd& 22003¢ mdm;% Tegd dwos

fion ID :9864494642
3BTRS BVARINVOR oRBmrsms KesEs) salyarRt. Question ID: 98644946

Status : Answered
eed e~ CoHpnz Chosen Option : 2

e e — CyHapay

e, — CyHzns

All the member of a homologous series can be represented by the same general formula.
Choose the INCORRECT formula from among the following.

Alkane— CnH2n+2
Alkene— C11H211+1
Alkyne—C,Hy,_;
Ans —
- oded — CHypug

v
Alkene— C,Hyj 43
5 2.
e en® — CyHppy, &) o ;0" — CiHan
Alkane—C,H,, ., and Alkyne— C,H,,_>
oy, 7—C,Hzp_ 7

< 3.
A‘]kyne_anZn—Z
) Eﬂﬁ&tm"' — C,Hapin
Alkane— C,H,, .-
o é? 8gﬁd@ﬁ%ﬁ@ mﬁjd} do&jﬂﬁ ﬁﬂ&iﬂmﬁdo Question ID : 9864492704
‘Which of 'ing numbers is composite? Status : Answered
! Chosen Option :3
Ans  of 1 51
X 261
< 331
<441
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